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’ 100kN/mM%#BZ 5% -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 5.36 66.87| =h L4t |0.00 ~ 536| 1.87 10.02 s 1.00f 500 ~ 6.06 66.87| =h L4t | 500 ~ 6.06] 1.87 10.02
9 100kN/m##8 %% 1.00{0.00 ~ 1.75 126.85| 3m%x #8235 -~ - - —| 100kN/mM%#8 % % 1.00{ 11.19 ~ 19.56 126.85| 3m%x#B2 5% -~ - - -
s 1.00]1.75 ~ 953 100.00f Zhkl4t |0.00 ~ 9.53] 2.20 11.78 s 1.00f 500 ~ 11.19 100.00f Z=hl4t | 5.00 ~ 19.56| 2.20 11.78
3 100kN/m##8 %% 1.00{0.00 ~ 1.59 124.23| 3m%x#B2 5 -~ - - —| 100kN/mM%#2 % % 1.00{ 11.24 ~ 18.51 124.23| 3m%x{B 25 -~ - - -
s 1.00]1.59 ~ 9.37 100.00f Zhkl4t |0.00 ~ 9.37| 2.20 11.75 s 1.00f 500 ~ 11.24 100.00f Z=hl4+ | 5.00 ~ 1851 2.20 11.75
4 100kN/m##8 %% 1.00{0.00 ~ 1.17 117.69| 3m%x#B 25 -~ - - —| 100kN/mM%#2 % % 1.00{ 12.65 ~ 19.71 117.69| 3m%x#B 25 -~ - - -
ZHnLs 1.00]1.17 ~ 8.96 100.00f Zhkl9t |0.00 ~ 8.96] 2.10 11.23 s 1.00f 500 ~ 12.65 100.00f Z=hkl4t | 5.00 ~ 19.71| 2.10 11.23
5 100kN/m##8 %% 1.00{0.00 ~ 045 106.59| 3m%*x #8225 -~ - - —| 100kN/mM%#2 % % 1.00{ 12.67 ~ 14.72 106.59| 3m%*x B2 5% -~ - - -
s 1.00/045 ~ 8.23 100.00f Zhki4t+ |0.00 ~ 8.23] 1.93 10.34 s 1.00f 500 ~ 12.67 100.00f Zh st | 5.00 ~ 1472 1.93 10.34
6 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ B -~ - - -
s 1.00/0.00 ~ 585 73.23| #nLlst 1 0.00 ~ 0.00| 1.57 8.39 s 1.00f 500 ~ 7.24 73.23| =4t | 5.00 ~ 7.24] 1.57 8.39
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
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